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MATHEMATICS �,(1)1d 

Class-XII

CBSE Class 12 Maths Question Paper 2014

General Instructions : 

( i) All questions are compulsory.
(ii) The 

-

question paper consists of 29 questions divided into three 
-

sections A, B and C.
Section A comprises of JO questions of one mark each, Section B comprises of

- C comprises of 7 questions of six12 questions of four marks each and Section 
marks each.
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(iii) All questions in Section -A are to be answered in one word, one sentence or as per
the exact requirement of the question. 

(iv) There is no overall choice. However, internal choice has been provided in 4
questions of four marks each and 2 questions of six marks each. You have to attempt 
only one of the alternatives in all such questions. 

(v) Use of calculators is not permitted. You may ask for logarithmic tables, if required.

�-31' 

SECTION-A 

��l �tOoq;-��l 3lct,cnl"t I Question numbers 1 to 10 carry 1 mark each. 
1. ��ql«lfqcf>'ffl3TI� �'j'i=-i=lll #, -i:JRT *���t_ "'ll'�a, be R-{0}

��a * b = 1 mu� t 1 � 2 * (x * 5) = 10 t m x cnl" llR m � 1
Let * be a binary operation, on the set of all non-zero real numbers, given by a * b = �b

for all a, be R- {0}. Find the value of x, given that 2 * (x * 5) = 10. 
2. � sin (sin-1 ½ + cos-1 x) 

= 1 t, ffl x cnl" llR � � I
If sin (sin-1 ½ + cos-1 x) 

= 1, then find the value of x. 

3. �2[ ! �-]+[ � �] =[ 170 � ]t m (x-y) cnl"llRm� 1
If 2 [ ! � ] + [ � � ] = [ 170 � ], find (x - y).

4. f.:F;;r � �J.tlcf><o, c:frr x��rn� :, [x 1] [ �2 �] 
= 0. 

Solve the following matrix equation for x :, [x 1] [ -� � ] = 0. 
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I 2x 5 I ·I 6 -2 I If 8 x 
= ' ·· 1 3 , write the value of x. 

6. (3� + �) q;r ffl-,:w:ichC'l-i'I � I

Write the antiderivative of (3� + �).

7. 1:IR'fflff�:J9�x2
0

Evaluate : J 9 �x2

" " . " " " " Find the projection of the vector i + 3j + 7k on the vector 2i - 3j + 6k.

9. �1o'l!"T b����tfcf;-1 + b����t m1o'l!T b��q;rq;)u,­
m�

If 1 and b are two unit vectors such that 1 + bis also a unit vector, then find the
� � angle between a and b.

10. � � q;r � �J.flq;;,:01 m � � � (a, b, c) * � "-i11ffl t o'l!T �

t · (i + j + k) = 2 ��t I
Write the vector equation of the plane, passing through the point (a, b, c) and parallel

� " " " to the plane r · (i + j + k) = 2.
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�-� 

SECTION-B 

��11�22���4:atcJ;-cf>ft
Question numbers 11 to 22 carry 4 marks each.

11. lWrl" A= {l, 2, 3, ..... , 9} �Ax A 'Jl R �ffl t �Ax A -q (a, b), (c, d) ��
(a,b)R(c,d)�a+d=b+crnr�t 1fu;g-�fcfi°R��mt I�
c{1T [(2, 5)] trr"fflo� I
Let A= {1, 2, 3, ..... , 9} and R be the relation in Ax A defined by (a, b) R (c, d) if
a+ d = b + c for (a, b), (c, d) in Ax A. Prove that R is an equivalence relation. Also
obtain the equivalence class [(2, 5)]. 

p,.,..,,.. � � _ 1 l 1 + sin x + l - sin x x ( 7t) 12. ,�� """"l� 1q, cot 
A I A 1 = -2 ; x e 0, -4 .
'J 1 + sin x - 'J 1 - sin x 

� 

fu;g-�fcfi° 2 tan-1 (½) + sec-1 (5f) + 2 tan-1 (½) = �-

· l l 1 + sin X + l - sin X X ( 7t) Prove that coc A 11 
. 

A , 1 . = -2 ; x e 0, -4 .
'J + sm x - 'J - sm x 

OR 

Prove that 2 tan-1 (� + sec-1 (5¥2) + 2 tan-1 (½) = �-

13. *1 Rfo lcfit � � cf>T ffl ffl" fu;g-� fcfi°

Using properties of determinants, prove that

14. tan-1 (:Vl ; x
2

) cf>T cos-1 (2�) �� 316tcfiflsii ffl(f �. � x :;t; 0 t I

Differentiate tan-1 (:Vl ;x
2) with respect to cos-1 (2�), whenx; 0.
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� =..x� ����s!:y_l(E!Y)2_Y_o 15. <.fl� y ..-1, (°>, rn l'(;-1� "l'lll"l� l"l'l d.x2 y d.x X - • 

If y = r prove that d
2y - 1 (E!Y)2 -Y 

= 

0. , d.x2 y d.x X 

16. ��m��� f(x) = 3.x4-4x3-12x2 + 5
(a) f.:mR" � t I
(b) f.:mR"01flJ4H � I

� 

�X= a sin30� y = a cos30�ffl 0 =�'Qr'flm"�� ���ifjc:fi(Oj m
�I 
Find the intervals in which the function f(x) = 3x4 - 4x3 - 12x2 + 5 is 
(a) strictly increasing
(b) strictly decreasing

OR 

Find the equations of the tangent and normal to the curve x = a sin30 and y = a cos30 at
1t 0=4· 

� . f. sin6x + cos
6
x d.x 17. 1=fR 'ffl<'f "l'lll"l� • • 2 2sm x · cos x 

� 

l=l'Rm�: J (x-3)'1x2 
+ 3x-18 d.x 

f sin6x + cos
6
x Evaluate : . 2 2 d.xsm x · cos x 

OR 

Evaluate: J (x- 3)'1x2 + 3x- 18 d.x 

18. � W!lcfi{Uj � d.x +; dy = 0 "EfiT �ffl m �' � t� y = 1 �
x=Otl

Find the particular solution of the differential equation � d.x + ; dy = 0, given
that y = 1 when x = 0.
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19. � � ,(-11-tlcf>{UI cnl" ffl �:
2 .QY 2 (x -1) d.x + 2xy = x2 - l"

Solve the following differential equation 
2 .QY 2 

(x - 1) d.x + 2xy = 
x2- 1.

[-+ � � -+ -+ -+] (-+ � -+] a+b,b+c,c+a =2 a,b,c 

� -+ -+ -+.;,,..;:..�� -+ -+ -+ -+ ,�1 1--+I 1--+I � -+ -+ '{11c;,�1 a, b m c �'{1 Q 1cr> a + b + c = o m a = 3, b = 5 m c = 7 Q I a m b 
��q;f"cf>TUTW<f� I 

-+ -+ -+Prove that, for any three vectors a , b, c 

[-+ � � -+ -+ -+] [-+ � -+]a+b,b+c,c+a =2 a,b,c 
OR 

Vectors 1, b and "t are such that 1 + b + "t = 0 and I 11 = 3 ,  I b I = 5 and I "t I = 7.-+ -+ Find the angle between a and b .

2 ��+=,-;;.x+l Y..±1 z+5 x-2 y-4 z-6 fi,:0 ............... �.· 1. ��11�� 1cr, "'�'� -3- = 5 = -7-m -1- = 3 = -
5
- !-I a G cr>'{rn Q 1 �

!.lfa'i:0G'1 � tjr Wn � I 
. x+ 1 Y..±1 z+5 x-2 y-=..± z-6. Show that the lmes-3- = 5 

= -
7
- and-1- = 3 = -

5
- mtersect. Also find 

their point of intersection. 

22. llR�fcf;-��ffi�q;r�-qr�m;:n�t 1�M'lftm-1t-e:1"�t
mm����cf>l" ,(-ll'.lfa¥1 l'.!1P-1cf>m ��. ����tfcf;-
(i) ����ti

(ii) � � � �� � t I
Assume that each born child is equally likely to be a boy or a girl. If a family has two 
children, what is the conditional probability that both are girls ? Given that 
(i) the youngest is a girl.
(ii) atleast one is a girl.
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�-� 

SECTION-C
W,, m§!U 23 � 29 'ocfi � � 6 � cfiT t 

Question numbers 23 to 29 carry 6 marks each.
23. � fc:m,�4 P � Q 3ll:R � � fch!JIMlll cm �'FllfH, � � � cffi" � � * �

� 9,H4-iR � � t I fcl©IW-1 P 3ltR �: 3, 2 � 1 fct©IM41 cm�� � � �
�: f x, f y o'lff f z t,=rr � t�� 'lH-c:fiRl cffi" � � f 1,000 t I fcl©IW-1 Q 3ltR
�: 4, 1 � 3 fc1i11f21�1 cm "f-1 � * � � f 1,500 9;t�1< � t-=rr � t
(o'lff � fcl©l�4 � tf m;, � � cfflT 9,<�R "Um t,=rr � � I ��('fr;#���
��-�'l<�R·cfil"�-ufw � 600.t, 'ffi" �cffi"ffl���*mc:t�
·'1<%1< Uffi�� I 
34./.1<:ffi � � � '1-tfafo:R't � 3R � � � 9;(%1< -t-t *�� � � I 
Two schools P and Q want to award their selected students on the values of Discipline,Politeness and Punctuality. The school P wants to award f x each, , y each and f z eachfor the three respective values to its 3, 2 and 1 students with a total award money of
f 1,000. School Q wants to spend , 1,500 to award its 4, 1 and 3 students on therespective values (by giving the same award money for the three values as before). If
the total amount of awards for one prize on each value is f 600, using matrices, findthe award money for each value. 
Apart from the above three values, suggest one more value for awards.

24. �fcf;-c;t"[t�����ffl�cffi"�cffiUTcos-1 --{3�t I
Show that the semi-vertical angk of the cone of the maximum volume and of given
slant height is cos-1 --(3· 

7t/3 

25 'tl'Ff=� J dx 
• "(II\I "flll"l � 1 + ".} cot x

7t/6 

7t/3

Evaluate : J 1 �+ cotx 

7t/6 

26. ��i�, q� x2 +y2
= 32, Ufily =x� x--are�W�cffi"�m� 1 

Find the area of the region in the first quadrant enclosed by the x-axis, the line y = x
and the circle x2 + y2 

= 32.
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27. �;m A(2, 5, -3), B(-2, -3, 5) � C(5, 3, -3) -rnf f.:rmfuf � � � (7, 2, 4) � ¢
��I

� 

� (-1, -5, -10) � � 1 = 2i - j + 2k + 'A (3i + 4j + 2k) � � t · (i - j + k) = 5 
i �fd+.€§�-1·����¢�� 
Find the distance between the point (7, 2, 4) and the plane determined by the points 
A(2, 5, -3), B(-2, -3, 5) and C(5, 3, -3). 

OR 

Find the distance of the point (-1, -5, -10) from the point of intersection of the line 
"":7 /\ /\  f, I\ I\ I\ .  "":7 1\ /\ /\  r = 2i - j + 2K + A (3i + 4j + 2k) and the plane r · (i - j + k) = 5. 

28. · mi:nuT &l;f cfiT � "&fTGRT ¥9 � lffiR � � t I � "Clffi ��WW:�
� 5,160 t ·� � � m � � � 20 ;;rrr � m � t , � $8cts:1f1cfi �
� cfiT � � 360 %°, � � ffl � � qffiT � cfiT � � 240 %° I � �
$�cfs;lf1cfi �'cfil' � 22 �'9Z��t�ffl��qffiT�'cfil' � 18 �'9Z I�
��rci;-���N-;,rr��t. ��cfiTR<rn���·rci;-.� �
�·m? 39(li:Ri 'cfil'·�����m-q;--rnrrn� l
A dealer in rural area wishes to purchase a number of sewing machines. He has only
� 5,760 to invest and has space for at most 20 items for storage. An electronic sewing
machine cost him � 360 and a manually operated sewing machine � 240. He can sell
an electronic sewing machine at a profit of � 22 and a manually operated sewing
machine at a profit of� 18. Assuming that he can sell all the items that he can buy,
how should he invest his money in order to maximize his profit ? Make it as a LPP and
solve it graphically.

29. ffiW � 52 "Cl'ffl � �� 1q � �l:ffif � � %° I ffi "Cl'ffl 1q � � lffi � � f (41<i�41
�fa,(ill9'11 � �ri����t I ��lffi������I l,IIP-lcfii:"11 �?

� 
15 ����lq�. � 5 ��t �-�mtifa¼1q.:i1 � 4 �cf;f �

��lfllT l���ffl"efil tilf4cfitll��� laIB:�'cfiT�� 
�I 
A card from a pack of 52 playing cards is lost. From the remaining cards of the pack 
three cards are drawn at random (without replacement) and are found to be all spades. 
Find the probability of the lost card being a spade. 

OR 

From a lot of15 bulbs which include 5 defectives, a sample of 4 bulbs is drawn one by 
one with replacement. Find the probability distribution of number of defective bulbs. 
Hence find the mean of the distribution. 
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